as < 40c \:}
O

actly 50c L
Which pile has the most money a 1

st money \j

Which pile h
Which pile has = $1.50

Which pile has ex

‘Which pile has the lea

r’ )
=

R

Which pile has = $3 \

—\

Which pile has < 50c

Which pile ha

Which pile has exactly 40C |

Which pile has exactly 15¢ {

—)

)

Which pile has < 30c k

Which pile has the most money ﬂ \
)

Which pile has the least money 1 \

Which pile has exactly $2 [ Ho

Which pile has exacty 80¢ \ ]

Which pile has < 50¢c ’

\Which pile has exactly $3.75 | How

\Which pile has exactly $2.35 ‘i Which 2

Ry

R

Which pile has < $1.50 L

as the most money &

Which pile h
%

\Which pile has the |east money \\_

Which pile has exactly $7 \

Which pile has exactly $5.30 'k\ }

\Which pile has < $5.10 )

Which coins add up to $1 .50

Which coins add up to $3.50

@l

i

N

Which pile has the most money ( \

PR

Which pile has the least money | J Ho

e

\Which pile has exactly $195 | j
—

ey

most money \___.

pile has the least money

Which pile has the
Which

\Which pile has exactly §13.50 |

———

Download this and oth
Bounceleg

pilt

one

Dile has -
% 9.90

s exactly $2 [l l

uch is Pile A+ Pile D Cj

While pile is = $2.50 and < 54 i

How much is there in gold coins ' |

n silver coins }

How much is there i
Which pileis > 40c and < $1

Add up

Which pile
has < $2 D

Which pile has > $5 E—J

Which pi
ich pile has exactly $2.5 =
Which pile k \ Il f

HOW m
uch is there j
rein gold )
coins [

_J

'J

While pile i
pile is > 34 =
and < 3§ m

' A
» dd up all the coins (
Up 2 coins from each gold L
pile

\L How much is there in silver coins \ j

=
Which 2 piles add up to 80¢ \, ]

How m
Gich i
chis there in gold coj {
ins

While pile is > 40c

and < $1 Kj

(o]
C

Which ni el
hich pile hag exactly $8 [ )
Which pi ‘
ich pile has exactly $12 }

——

Z

——

How m
uch js there i
oins j

)

Which 2 pj
piles add
up to $16 H'—“

f——

Which pile has < §7

While pile is > $g anq $12 [ ‘
<$12

L
g
L]

T

-

I —

Whi i
ich pile hag exactly $10 }

Add u
P 2 coins f
rom each pij
pile

R

)

0 $3.60 |

piles add up

C|I i

i

Whﬁe pile is > \J
et )

e

Which pile h
as
> 8150 D

W

(L

—

Which pile has > g5

, How much al, U

ogether in 10c coing / ‘

. J

How much
altoge h
t H .
g er in not f
L~,

_J

{"‘ﬁ'

——

s have > §200 |
s

eﬂ'ler

pile has exactly $216.05

4 Lich anogemem i
silver coi e __
ins




	2: bitmap

